Chapter 5- Admission of a Partner

Question 1

X, Y, and Z are partners sharing profits and losses in the ratio of 5 : 3: 2.
They admit A into partnership and give him 1/5th share of profits. Find the
new profit-sharing ratio.

Solution:

Old Ratio = X: Y: Z = 5:3:2

1/5 share of profit is provided to A

Let assume the profit share for all partners after the admission of A is 1

So, X, Y, and Z combined share after A’'s admission =1 — A’s share

=1- % = ;i (this is the combined share of X, Y, and Z)

Mew Ratio = Old Ratio X (combined share of X, Y, and Z)

= o

Al o = _} i = ﬂ
A's share = 0o X = = &

5 =3 w4 _ 12
Bs share= - X £ = =5

‘s g =2 y4_ 8
C's share TR
So, the profit sharing ratio between X, Y, Z, and A will be % : ,']—ﬁ : % : ﬁ or 10: 6: 4 :5 respectively
Question 2

Ravi and Mukesh are sharing profits in the ratio of 7 : 3. They admit Ashok for
3/7th share in the firm which he takes 2/7th from Ravi and 1/7th from
Mukesh. Calculate the new profit-sharing ratio.

Solution:



The old ratio of Ravi and Mukesh is 1—7;] : 1—::'] % share of profit is admitted by Ashok

Ravi sacrifice % in favour of Ashok

Mukesh sacrifice % in favour of Ashok

Mew Ratio = Old Ratio — Sacrificing Ratio

il
10

_3 _1

10 T 70

0

7

Ravi's Share =

=] |b2
=

Mukesh's share

So, the new profit sharing ratio between Ravi, Mukesh, and Ashok will be,

200713

. 29 11 . 3 _ 20011:3
Ravi = s Mukesh - sAshok = =

Question 3

A and B are partners sharing profits and losses in the proportion of 7 : 5. They
agree to admit C, their manager, into partnership who is to get 1/6th share in
the profits. He acquires this share as 1/24th from A and 1/8th from B.
Calculate new profit-sharing ratio.

Solution:

The old ratio of Aand B = 7:5

% share of profit is admitted by C

& sacrifice 2—14 in favour of C

B sacrifice % in favour of C

Mew Ratio = Old Ratio — Sacrificing Ratio

_ 7 _ 1 _13
Asshare——lg 51 91
; -5 _1_ 7
Eisshare—12 il

13 . 7 .

13 1 _ 1374
24724 7 24

S0, the new profit sharing ratio between A, B, and C will be = =13:.7:4



Question 4

A, B and C were partners in a firm sharing profits in the ratio of 3 : 2 : 1.
They admitted D as a new partner for 1/8th share in the profits, which he
acquired 1/16th from B and 1/16th from C. Calculate the new profit-sharing

ratio of A, B, C and D.
Solution:

The profit-sharing ratio of A, B, and C = 3:2:1

Original share of A = ﬁ

D's share = + (out of which + is acquired from B and C each

8 [0
- -2 _1_13
New share of B 5T 6 as
- -1_1_35
New share of C = T
So, the new profit sharing ratio between A, B, C,and D is = % ) ﬁ :

Question 5

48 " 8 48

Bharati and Astha were partners sharing profits in the ratio of 3 : 2. They
admitted Dinkar as a new partner for 1/5th share in the future profits of the
firm which he got equally from Bharati and Astha. Calculate the new profit-

sharing ratio of Bharati, Astha and Dinkar.
Solution:

The old ratio of Bharati and Astha = 3:2

Dinkar share = é
Bharati sacrifices= 2 x 1 = L
527 10
Astha sacrifices= £ x L = L
527 1D
Bharati's New Share=3 - L =81 _5
5 10 10 10
y 2 1 4-1 3
i o =] - £ _ 1 = -
Astha's New share E~ S w1
i ' 1., 2_ 2
Dinkar's New share = £ X 5%

So, Bharati : Astha:Dinkar=5:3:2



Question 6

X and Y are partners in a firm sharing profits and losses in the ratio of 3 : 2. Z
is admitted as a partner with 1/4 share in profit. Z acquires his share from X
and Y in the ratio of 2 : 1. Calculate new profit-sharing ratio.

Solution:
The old ratio of Xand Y = 3:2
1/4th share of profit is admitted by Z

Sacrificing ratio of X and Y is 2:1

. . _ 21 _ 2
Z acquired share from X 3 X4 =13
Z acquired sharefromy=1 x 1 =2

374 12

New Ratio = Old ratio — Sacrificing ratio

: _ 3 _ 3610 _ 28
¥'s New Share= 2 - 2 - 30 10 _ 26
5 12 60 60
' : _ _ 24 5 _ 19
¥'s New share= 2 - 1 = _ 19
5 2 60 60
Z's New share=1 x 12 - 18
4715 60

S0, XY L=26:19:15
Question 7

R and S are partners sharing profits in the ratio of 5 : 3. T joins the firm as a
new partner. R gives 1/4th of his share and S gives 1/5th of his share to the
new partner. Find out new profit-sharing ratio.

Solution:
The old ratioof Rand S =5:3

Sacrificing ratio = Old Ratio X Surrender Ratio

-3
40

Sacrificing ratioof Rand = 2 X

[5.5 i [S S A

5
8
Sacrificing ratio of S and = % X

MNew Ratio = Old Ratio — Sacrificing Ratio

\ , _5_ 5 _15
R's New Share ST B m
\ . _3_ 3 _15
S's New share il

T's Share = R's sacrifice + S's sacrifice

) 5 3 25412 a7
= — 4+ — = = -
T's Share 32 40 1640 160
- i ; . _ 15, 15, 37 _ T75:48:37 e
New profit sharing ratio between R, S, and T 3 760 - 1gg 01 79:48:37



Question 8

Kabir and Farid are partners in a firm sharing profits and losses in the ratio of
7 : 3. Kabir surrenders 2/10th from his share and Farid surrenders 1/10th
from his share in favour of Jyoti; the new partner. Calculate new profit-sharing
ratio and sacrificing ratio.

Solution:

The old ratio of Kabir : Farid = 7:5

2

T favour of Jyoti

Kabir sacrifice
Farid sacrifice ﬁ in favour of Jyoti

" 2 1 3
] = = 4 — = —
J}‘DtlS share T 0 T

MNew Ratio = Old Ratio — Sacrificing Ratio

¥

- -7 _ 2 _5
Kahir's New Share TREETRRET

T i 1A = i — _I' = i
Farid's New share TR
S0, the new profit sharing ratio between Kabir, Farid, and Jyotiwillbe=5:2:3

The Sacrificing ratio of Kabir and Farid is % and ﬁ =277

Question 9

Find New Profit-sharing Ratio:

(i) R and T are partners in a firm sharing profits in the ratio of 3 : 2. S joins
the firm. R surrenders 1/4th of his share and T 1/5th of his share in favour of
S.

(ii) A and B are partners. They admit C for 1/4th share. In the future, the ratio
between A and B would be 2 : 1.

(iii) A and B are partners sharing profits and losses in the ratio of 3 : 2. They
admit C for 1/5th share in the profit. C acquires 1/5th of his share from A and
4/5th share from B.

(iv) X, Y and Z are partners in the ratio of 3 : 2 : 1. W joins the firm as a new
partner for 1/6th share in profits. Z would retain his original share.

(v) A and B are equal partners. They admit C and D as partners with 1/5th
and 1/6th share respectively.

(vi) A and B are partners sharing profits/losses in the ratioof 3 : 2. Cis
admitted for 1/4th share. A and B decide to share equally in future.

Solution:
(i) Theold ratioof R : T = 7:5

Sacrificing ratio = Old ratio X Surrender ratio



. o _3,1_3
R's Sacrificing Share = ¢ X 2 = 54
: - _2,1_2
T's Sacrificing Share = EXE =

New Ratio = Old Ratio — Sacrificing Ratio

\ _3_3_29
F?:shlmwshare—5 30 - 20
) _2_2 _38
TsNewshare—5 % "%

S's share = R's sacrificing share + T's sacrificing share

So, the new profit sharing ratio between R, T, and S will be = 2—% ) % : % = % or 45:32 .23
(iiy Theold ratinof A:B=1:1

%th profit share is admitted by C

Combined share of Aand B = 1- C's share = 1- i = %

New ratio = Combined share of Aand B X %

A's New Share = % X % = %

B's New share = % X % = %

New Profit sharing ratio A:B: C = %:1—:‘; :i =% =2:111

(iii) The old ratioof A:B=3: 2



%th profit share is admitted by C

A's sacrifice = C's share X %

1

25

X

[
[

B's sacrifices= C's share X %

-1y 4_ 4
'5}{5 25

New Ratio = Old Ratio — Sacrificing Ratio

; _3 1 _15-1_ 14
ﬁsshare—5 %€ = 25 - 2E
; _2 4 _ 104 _ @
Bsshare—5 x - -

i in=pA-B-Cc=4.86 . 1_ 1461 _.4,. .
New Profit Sharing Ratio=A:B:C= > S E o 14:6:1
(iviTheoldratioof X :¥:Z2=3:2:1
%th profit share is admitted by W
After admitting W and combining all the partner's share , let the share be =1

¥ and ¥ combined share in the new firm = 1 - Z's share — W's share

-_q_1_1_4

=1 i 6 6

Mew Ratio = Old Ratio ¥ combined share of X and ¥

: 34 _ 12

){sshare—Sxﬁ =0

' -2y 4_ 8

‘r’sshare—S}(ﬂ 0
NewProﬂtSharingRatiD:K:?:E:W:I—Eg:%:%:%:%DHE:E:E:S



(v) The old ratioof A:B=1:1

%th profit share is admitted by C
%th profit share is admitted by D

After admitting C and D and combining all the partner's share , let the share be = 1
Combined share of profit of A and B after C and D's admission =1 — C's share — D's share

A and B combined share after C and D's admission = 1 — Z's share — W's share

19

_q_1_1
=1 56 30
Mew Ratio = Old Ratio ¥ combined share of Aand B

A'sshare= 1y 12 - 18

2 ™30 60
" =1 19 _ 19
B's share = 5 * 30" B0

NewProﬂtSharingRatin:A:B:C:D:}—ig:%:;i:%:%orm:m:u:m

(vi) The old ratioofA:B=3:2
ith profit share is admitted by C

After admitting C and combining all the partner's share , let the share be =1

Combined share of profit of A and B after D's admission = 1 - C's share

=1-1=-3
4 4

A and B New Ratio = combined share of A and B X %

A and B New Ratio = % X %

1
2
NewProﬂtSharingRatiD:A:B:C:% : % :i :% or3:3:2
Question 10

X and Y were partners sharing profits in the ratio of 3 : 2. They admitted P
and Q as new partners. X surrendered 1/3rd of his share in favour of P and Y
surrendered 1/4th of his share in favour of Q. Calculate new profit-sharing
ratio of X, Y, P and Q.

Solution:
Theoldratioof X: Y=3:2

Sacrificing ratio = Old ratio X Surrender ratio



X's Sacrificing Share =

¥'s Sacrificing Share =

S -
b4

e = |
(%]

Mew Ratio = Old Ratio — Sacrificing Ratio

X's share = 2

|es

2lee e
o

W
b

145
e

¥'s share =

e
|

|

¥ sacrificed for P

o

¥ sacrificed for Q = %

So, the profit sharing ratio between X, Y, P and Q will be % . 8.3.2_ % or 10 : 6: 4 :5 respectively
Question 11

Rakesh and Suresh are sharing profits in the ratio of 4 : 3. Zaheer joins and
the new ratio among Rakesh, Suresh and Zaheer is 7 : 4 : 3. Find out the
sacrificing ratio.

Solution:

The old ratio of Rakesh : Suresh =4 : 3

New ratio for Rakesh, Suresh and Zaheer =7 : 4 : 3

Sacrificing ratio = Old ratio - New ratio

Rakesh's Share =

-q|.u..

L
1:
2

i

] -\I
5] q - -
Suresh's Share - ”

S0, sacrificing ratio of Rakesh and Suresh = ﬁ : % =1:2

Question 12

A and B are partners sharing profits in the ratio of 3 : 2. Cis admitted as a
partner. The new profit-sharing ratio among A, Band Cis 4 : 3 : 2. Find out
the sacrificing ratio.

Solution:
TheoldratioA:B=3:2
New ratio for A, BandC=4:3:2

Sacrificing ratio = Old ratio - New ratio



Al -3 _4_ T
A's Share =+ - ¢ = ¢
s -2_3_3
B's Share= ¢ - 5= ¢
So, sacrificing ratioof Aand B = — : 3 -1:2

45 © 45

Question 13

A, B and C are partners sharing profits in the ratio of 4 : 3 : 2. D is admitted
for 1/3rd share in future profits. What is the sacrificing ratio?

Solution:
OldRato=A:B:C=4:3:2

1/3th profit share is admitted by D

Let A, B, C, and D combined share be 1

So, A, B, and C combined share after D’s admission =1 — D’s share

:‘|-_—:_—

New Ratio = Old Ratio X {(combined share of A, B, and C)

' _ 4.2 _ B
Asshare—ﬁ){g—ﬁ
- - 3,2_0
Bs share u}{:s 5=
o o _ 2.2 _ 4
Csahare—ﬁ}(g—g

Sacrificing ratio = Old ratio — New ratio

- _4 B _ 4
A'sshare= = - — = —
- 0 27 97T
B'sshare=3 - & -3
= 9 271 o7
3 4 3

C's share= £ - 2+ = =
= 7 27T o7

So, sacrificing ratio of A B : C will be q—’? : E—J? : % or4:3:2
s i

Question 14

A, B, C and D are in partnership sharing profits and losses in the ratio of 36 :
24 : 20 : 20 respectively. E joins the partnership for 20% share and A, B, C

and D in future would share profits among themselves as 3/10 : 4/10 : 2/10 :
1/10. Calculate new profit-sharing ratio after E's admission .

Solution:
OldRatio=A:B:C:D=36:24:20:20

20/100th profit share is admitted by E



Let A, B, C, and D combined share be 1

So, A, B, C, and D combined share after E’'s admission =1 — E’s share

_ .20 _ 80
100 100

Mew Ratio = Combined share of A, B, C, and D X Agreed share of A,B, C,and D

A'sshare=%:{%=%
B"ssware=%}(f—u=%
D“ssharez%i%:%
D's share:%:{ﬁ:%
NewsacriﬂcingratiDc}fA:B:C:D:E=ﬂ' 32 . 10 . 8 .20 _g5.8-4:2:5

100 ° 100 ° 100 ° 100 ° 100
Question 15

X and Y are partners sharing profits and losses in the ratio of 3 : 2. They
admit Z into partnership. X gives 1/3rd of his share while Y gives 1/10th from
his share to Z. Calculate new profit-sharing ratio and sacrificing ratio.

Solution:
OldRatio=X:Y=3:2

OldRatio=X:¥=3:2

X's sacrificing share = Ly3d-3
3 L] 15
¥'s sacrificing share = 1_1n
- L3 .1 »
Sacrificingratio= - : —or2:1

1F

Mew share = Old Share — Sacrificed Share

K"ssware:%_%:%
V'ssha*e:%_ﬁ:%
E'ssha’e:%_ﬁ:%
Newﬂatio=%;%;f_n=4:3:3

Question 16

A, B and C are partners sharing profits in the ratioof 2 : 2 : 1. D is admitted
as a new partner for 1/6th share. C will retain his original share. Calculate the
new profit-sharing ratio and sacrificing ratio.

Solution:

New Profit Sharing Ratio Evaluation
OldRato=A:B:C=2:2:1



E admitted %Th share and C retained his share —i
_ 3056 _ 19

3o 30

o=

Remaining Share = 1- — —

& | -

& and B will share the other ratio in 2 : 2 old ratio

A's new share = % X % - %
B's new share = % X % - %
C's new share = é X :_: - %
D's new share = ﬁ X % - %

Since, the sacrificed ratio is not mentioned it is assumed that 4 and B sacrificed their share is their old ratio

Sacrificing ratio = Old ratio — New ratio

. _2_10_2419_ 5
Asshare= 2 - =218 -5
560 60 60

24 19 _ 5
Bsshare=2 - 18- 2213 -5
5 60 60 60

So, sacrificing ratinof A'B:Cis5:50r1:1

Question 17

A and B are in partnership sharing profits and losses as 3 : 2. C is admitted
for 1/4th share. Afterwards D enters for 20 paise in the rupee. Compute
profit-sharing ratio of A, B, C and D after D’s admission.

Solution:

Old Ratio =A:B=3:2

C admitted 1/6th profit share

Let A, B, C, and D combined share be 1

So, A, B, C, and D combined share after E’'s admission =1 — E’s share



:'|-l:3

4 4

Mew Ratio = Old ratio X combined share of & and B

: - 3y¢3_ 9
Asshare-514 50
: =2y3_6
Eisshare—‘,J)':4 50
New profit sharing ratio after admissionof C=A:B:C= 3.8 1_355 09:6:5

20 20 4 20

After C's admission the profit sharing ratio will become old ratio when determining the new profit ratio after D's
admission

Ratio before admissionof D=A:B:C=90:6:5

; 20
D admitted ﬁth profit share

Let combines share of A, B, and C, after Ds admission be 1

S0, A, B, and C combined share after D's admission =1 - D's share
-1--20 _ 80

100 100

New Ratio = Old ratio X combined share of A, B, and C

' - 9 . B0 _ T2
Asshare—zuxlm 500
" - 6 . B0 _ 48
Bsshare—m:{m 500
' - 8 . B0 _ 40
Csshare—zﬂxlm 500

- - R ; T2 .48 40 . 20 _o.e.p.
So, new profit sharing ratio between A:B: C: D will be 200 - 200 - 200 - 00 - 2:6:5:5
Question 18

P and Q are partners sharing profits in the ratio of 3 : 2. They admit R into
partnership who acquires 1/5th of his share from P and 4/25th share from Q.
Calculate New Profit-sharing Ratio and Sacrificing Ratio.

Solution:
OldRatioP: Q=3:2

% of P's share is acquired by R

Remaining share of F‘%U ;i Jof his share from Q
If R share % =L
P'sshare=;1)(% = 2
Q's share =
P's new share =
Q's new share =

R's new share =
Mew Share P Q:R=14:6:5

Sacrificing ratio=1:4



Question 19

A and B are partners sharing profits and losses in the ratio of 2 : 1. They take
C as a partner for 1/5th share. Goodwill Account appears in the books at ?
15,000. For the purpose of C’'s admission, goodwill of the firm is valued at ¥
15,000. C is to pay a proportionate amount as premium for goodwill which he
pays to A and B privately.

Pass necessary entries.

Solution:

Journal Entry

Date |Particulars L.F. |Debit ¥ |Credit?
A’s Capital A/c Dr. 10,000
B’s Capital A/c Dr. 5,000
To Goodwill A/c 15,000

(Goodwill written-off between

A and B in the old ratio of 2:1)

Note- The goodwill brought by C will not be recorded in the journal books as
the amount is paid privately to A and B.

Working Note: Goodwill Written-off Evaluation
Debited A’s capital = 15,000 X 2/3 = ¥ 10,000

Credited B’s capital = 15,000 X 1/3 = ¥ 5,000

Question 20

A and B are partners sharing profits and losses in the ratio of 2 : 5. They
admit C on the condition that he will bring * 14,000 as his share of goodwill to
be distributed between A and B. C’s share in the future profits or losses will be
1/4th. What will be the new profit-sharing ratio and what amount of goodwill
brought in by C will be received by A and B?

Solution:

OldratioA:B=2:5

C admitted 1/4th profit share

Let A, B, and C combined share be 1

A and B combined share after C's admission = 1 — C’s share




'|-l
4 4

Mew ratio = Old ratio ¥ combined share of & and B

A'sshare= 2 x 3 =8
774 o8
B'sshare= 2 x 3 = 15
7™M 4T,

: o ap-p_ B .15.1 _ 6
Mew Profit Sharing Ratio=A:B:C = o8 - 28 - 4 "

1]
1
[y ]

215:7
C's Goodwill share distribution
C’s goodwill share =¥ 14,000

A will receive = 14,000 X % =¥ 4,000
B will receive = 14,000 X % =¥10,000

Question 21

A and B are partners in a firm sharing profits and losses in the ratio of 3 : 2. A
new partner C is admitted. A surrenders 1/5th of his share and B surrenders
2/5th of his share and B surrenders 2/5th of his share in favour of C. For the
purpose of C’s admission, goodwill of the firm is valued at ¥ 75,000 and C
brings in his share of goodwill in cash which is retained in the firm’s books.
Journalise the above transactions.

Solution:

Date | Particulars L.F. :eblt gredlt
Cash A/c Dr. 21,000
To Premium for Goodwill A/c 21,000
(Premium Goodwill brought by C)
Premium for Goodwill A/c Dr. 21,000
To A’s Capital A/c 9,000
To B’s Capital A/c 12,000

(Distributed Goodwill Premium brought by C
between A and B in sacrificing ratio 3:4)

OldratoA:B=3:2




. _ 3. 1_ 3
Asacrlﬂces—g}(g—ﬁ

i - 2.,2_4
Bsacrlﬁtes—5K5 o€

P . p_ 3.4 _,.
Sacrlﬁcmgratlonfh.B——%.—25 3:4

Mew ratio — Old ratio — Sacrificing ratio

: : _3_ 3 _12

A's new ratio share = £ — ot = 22

r : _2_ 4 _ 6

B's new ratio share= 2 - L = %
C's new ratio share = A sacrifice + B sacrifice = = + + = L
25 T35 25

So,NewratioA:B:C=12:6:7
Goodwill premium bought by C= 75,000 X 2—2 =21, 000
Goodwill premium distribution
Goodwill of A= 21,000 X % =6, 000
Goodwill of B = 21,000 X % =12, 000
Question 22

Give Journal entries to record the following arrangements in the books of the
firm:

(a) B and C are partners sharing profits in the ratio of 3 : 2. D is admitted
paying a premium (goodwill) of 2,000 for 1/4th share of the profits, shares
shares of B and C remain as before.

(b) B and C are partners sharing profits in the ratio of 3 : 2. D is admitted
paying a premium of ¥ 2,100 for 1/4th share of profits which he acquires
1/6th from B and 1/12th from C.

Solution:

(a)

Journal

Date |Particulars L.F. :eb't :redlt
Cash A/c Dr. 2,000
To Premium for Goodwill A/c 2,000
(Goodwill Premium brought by D)
Premium for Goodwill A/c Dr. 2,000
To B’s Capital A/c 1,200
To C’s Capital A/c 800
(Distributed Goodwill Premium between B and




| |C in sacrificing ratio 3:2) | | | |

Working Note: Distribution of goodwill premium

Goodwill of B = 2,000 X 3/5 = 1,200

Goodwill of C = 2,000 X 2/5 = 800

(b)

Journal

Date |Particulars L.F. :eb't gred|t
Cash A/c Dr. 2,100
To Premium for Goodwill A/c 2,100
(Goodwill share bought by D in cash)
Premium for Goodwill A/c Dr. 2,100
To B’s Capital A/c 1,400
To C’s Capital A/c 700
(Distributed Goodwill Premium between B and
C in sacrificing Ratio 2:1)

Working Note 1 : Distribution of goodwill premium

Sacrificing ratio = B : C = latex]\frac{1}{67}\) : latex]\frac{1}{12}\) =2 :1
Working Note 2 : Distribution of goodwill premium

Goodwill of B = 2,100 X 2/3 = 1,400

Goodwill of C = 2,100 X 1/5 = 700

Question 23

B and C are in partnership sharing profits and losses as 3 : 1. They admited D
into the firm, D pays premium of ¥ 15,000 for 1/3rd share of the profits. As
between themselves, B and C agree to share future profits and losses equally.
Draft Journal entries showing appropriations of the premium money.

Solution:

Journal

Date | Particulars L.F. gebit gredit
Cash A/c Dr. 15,000
To Premium for Goodwill A/c 15,000




(Goodwill share bought by D in cash)

Premium for Goodwill A/c Dr. 15,000

To B’s Capital A/c 15,000
(Goodwill premium transferred to B’s Capital)

C’s Capital A/c Dr. 3,750

To B’s Capital A/c 3,750

(Being charges goodwill from C’s capital A/c
due to his gain in profit sharing)

Working Notes 1: Sacrificing Ratio Evaluation
Let B and C combined share after D’s be 1

B and C combined share after D’s admission = 1 - D’s share

(=]

1
3
Profit sharing of B and C after D's admission = % X

Sacrificing ratio = New ratio - New ratio

B's share = f -1 % (sacrificing)

1
3

C'sshare= 1
4

1 -1 e
3 = 1 (0ain)
Working Notes 2:

C gains in the new firm. So, C's goodwill gain will be debited from his capital A/c and given to the sacrificing
partner B.

Firm's goodwill = Goodwill premium brought by D X Reciprocal of D's share
=15,000 X =% 45000
C's share of Goodwill gain = Firm goodwill X Share of gain

= 45,000 X <5 =% 3,750

Question 24

M and J are partners in a firm sharing profits in the ratio of 3 : 2. They admit
R as a new partner. The new profit-sharing ratio between M, J and R will be 5 :
3 : 2. R brought in ¥ 25,000 for his share of premium for goodwill. Pass
necessary Journal entries for the treatment of goodwill.



Solution:

Journal

Date |Particulars L.F. :eb't :redlt
Cash A/c Dr. 25,000
To Premium for Goodwill A/c 25,000
(Goodwill share bought by C in cash)
Premium for Goodwill A/c Dr. 25,000
To M’s Capital A/c 12,500
To J's Capital A/c 12,500

and J in their sacrificing ratio)

(Distributed C’s Goodwill share between M

Working Notes 1: Sacrificing Ratio Evaluation

Sacrificing ratio = Old ratio - New ratio

i i i = . = i . l = "
Sacrificing ratio=M :J = TRETIAE
Working Notes 2: R's goodwill share Evaluation
M's goodwill share = 25,000 X —; =% 12,500
J's goodwill share = 25,000 X % =3 12,500

So, M and N will receive 12,500 each

Question 25

A and B are in partnership sharing profits and losses in the ratio of 5: 3. Cis

admitted as a partner who pays ¥ 40,000 as capital and the necessary amount
of goodwill which is valued at ¥ 60,000 for the firm. His share of profits will be
1/5th which he takes 1/10th from A and 1/10th from B.

Give Journal entries and also calculate future profit-sharing ratio of the

partners.

Solution:



Journal

Date |Particulars L.F. gebit gredit
Cash A/c Dr. 52,000
To C’s Capital A/c 40,000
To Premium for Goodwill A/c 12,000
(Being goodwill share and capital bought by C in
cash)
Premium for Goodwill A/c Dr. 12,000
To A’s Capital A/c 6,000
To B’s Capital A/c 6,000

(Being C’s goodwill share distributed
between A and B)

Working Notes 1 : A and B Sacrificing Ratio

po 1.1 _.
AlB= TR 1:1
Working Notes 2 : New Profit Sharing Ratio Evaluation
Oldratioof A:B=5:3

Mew ratio = Old ratio — Sacrificing ratio

. _5_ 1 _m2
Asshare—g SIS
; _3_1_1
Bsshare—s ST

- o pemepo 21,111 _ 210118
Mew Profit Sharing Ratio=A:B:C= 0-1 % 0
Working Notes 3 : Distribution of R's goodwill share Evaluation
A's goodwill share =12,000 X % =¥ 6,000
B's goodwill share = 12,000 X % =¥ 6,000

So, A and B will receive 6,000 each




